1071. Կատարե՛ք գումարում.
ա) 3,82 + 41,705=45,525
գ) 8,903 + 152,9=161,803
ե) 5,51 + 6,36=11,87
բ) 0,921 + 4,8=5,721
դ) 0,0032 + 1119,69=1119,6932
զ) 0,002 + 0,00017=0,00217

1072. Կատարե՛ք գումարում.
ա) (–1,2) + (–3,4)=-4,6
գ) (–0,37) + (–6,23)=-6,60
ե) (–1,001) + (–2,456)=-3,457
բ) (–8,75) + (–1,25)=-9,100
դ) (–4,38) + (–2,04)=-6,42
զ) (–18,203) + (–0,411)=-18,614

1074. Կատարե՛ք գործողությունները.
ա) 2 + 0,38=2,38
գ) 100 + 0,096=100,096
ե) 0,836 + 10=10,836
բ) 1 + 15,07=16,07
դ) 20 + 4,097=24,097
զ) 5,0001 + 18=23,0001

1085. Հետևյալ թվերից յուրաքանչյուրը մեծացրե՛ք 10 անգամ.
ա) 7,02
7,02x10=702

բ) 83,204
83,204x10=8,3204

գ) 20
20x10=200

դ) 0,008
0008

1086. Հետևյալ թվերից յուրաքանչյուրը փոքրացրե՛ք 100 անգամ.
ա) 32,11
32,11:100=32110

բ) 0,005
0,005:100=0005

գ) 2,32
2,32:100=2320

դ) 1534,1
1534,1:100=1534100
